
1Achievers

1. (b) ŸÝÅþ ¢y!„ÅþÝþ îy ç¦þyîûöìœy!vþ‚ öíöì„þ †,£ ¢îûOy›=!œîû îûÇþyîû
‹˜Ä ¢îöìíöì„þ =îû&cþ™)’Å ¢%îûÇþy þ™kþ!“þ!Ýþ £œ !šþvþz‹ îÄî£yîû
„þîûyÐ

2. (c) 15 xöìQyîîû þ™y!œ“þ £çëûy ö@Õyîyœ £Äyuþçëûy!Ÿ‚ övþóéôéîû
!í› £œéôôôé ‘Clean Hands Are Within Reach’Ð

3. (a) övþD% öîûyöì†îû ‹#îy’% î£˜ „þöìîû £z!vþ¢ ›ŸyÐ ›Äyöìœ!îûëûy
öîûyöì†îû ‹#îy’% î£˜ „þöìîû xÄyöì̃ y!šþ!œ¢ ›ŸyÐ !„þvþzöìœ:
›Ÿy ~˜öì¢šþyÝþy£z!¢¢ öîûyöì†îû ‹#îy’% î£˜ „þöìîûÐ

4. (b) ç!vþŸy îûy‹Ä ¢îû„þyîû !˜¦Åþîûöìëy†Ä ç ¢y×ëû# ›)öìœÄîû †’þ
þ™!îûî£’ ¢%!î•y ²Ì”yöì̃ îû ‹˜Ä ‘Location Accessible
Multimodal Initiative’ (LAccMI) öëy‹˜y ¢)‰þ˜y
„þîûœÐ

5. (b) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû x‚Ÿ (Part) IXéôé~ þ™Mþéyöìëû“þ îÄîßþiy
†àþöì̃ îû „þíy îœy £öìëûöìŠéÐ

6. (c) ¦þyîûöì“þîû ²Ì•y˜›sþf#– îûyÜTÉþ™!“þ myîûy !˜ë%_« £˜Ð ¢‚!î•yöì̃ îû
75 ˜‚ •yîûyëû ~!Ýþîû vþzöìÍÔ… îûöìëûöìŠéÐ

7. (a) ¦þyîûöì“þ ²Ìí› x„þ‚öì@ùÌ!¢ ¢îû„þyöìîûîû ö˜“,þc ö”˜ ö›yîûyîû!‹
ö”Ÿy£zÐ

8. (a) ¢Á±!“þ REC !œ!›öìÝþvþ !î!î• “þíÄ ç öëy†yöìëy† ²Ìë%!_«
~î‚ !vþ!‹Ýþyœ ÝþÆyªšþöì›ÅŸ˜ ¢y!¦Åþöì¢öì¢îû ‹˜Ä ˜ÄyŸ˜yœ
£z̃ šþöì›Å!Ýþ: ö¢rÝþyîû ¢y!¦Åþöì¢¢ (NICSI)éôé~îû ¢öìD ›vþz
ßþºyÇþîû „þîûœÐ

9. (b) 1947 ¢yöìœîû 26 ‹%œy£z þ™y!„þhßþyöì̃ îû ‹˜Ä þ™,í„þ ¢‚!î•y˜
¢¦þy †àþöì̃ îû „þíy ö‡y!¡ì“þ £ëûÐ

10. (c) ò†yõþ# xÄyuþ ÞÝþÄy!œ˜ó @ùÌsþi!Ýþîû îû‰þ!ëû“þy £öìœ˜ œ%£z !šþŸyîûÐ
11. (a) òœy¦þ öÞÝþy!îûó Ýþ›y¢ £y!vÅþîû öœ…yÐ
12. (a) IRCON !œ!›öìÝþvþ ç RITES !œ!›öìÝþvþ ö”öìŸîû 15 ç

16“þ› ˜îîûb ö¢rÝþÆyœ þ™yî!œ„þ ö¢Qîû ~rÝþyîû²Ìy£zöì‹îû ›ëÅy”y
œy¦þ „þîûœÐ

13. (d) ë!” ö‹y“þ”yîû !˜öì‹£z î†Åy”yîûöì„þ }’”y˜ „þöìîû̃  “þöìî “þyöì„þ
þ™¤%!‹îy”# xyîy” îœy £ëûÐ

14. (c) ¦þyîûöì“þîû ‹y“þ#ëû xyöì̈ yœöì̃  ‰þîû›þ™sþi# ›“þ ç þ™öìíîû vþzayöì̃ îû
²Ì“þÄÇþ „þyîû’ £œ îD!î¦þy†Ð

15. (a) ›£ydy †yõþ# ö‡y¡ì’y „þöìîû̃  ò„þîû xíîy ›îûóÐ
16. (b) =îû& ö†y!îöì̈ îû ‹§Ãßþiy˜ £œ !î£yöìîûîû þ™yÝþ˜yÐ !“þ!˜ !Ÿ…öì”îû

”Ÿ› =îû& !Šéöìœ˜Ð
17. (c) ¢Á±!“þ ›•Ä²Ìöì”öìŸîû ö¦þyþ™yœ ›!£œy íy˜y ¢yîûy ö”öìŸ ISO

9001 : 2015 Ÿ‚¢yþ™e œy¦þ „þîûœÐ
18. (d) îy£›!˜ ¢yÁËyöì‹Äîû ²Ì!“þÛþy“þy £öìœ˜ xyœyvþz!j˜ £y¢y˜

îy£›y˜ Ÿy£Ð

19. (b) £zœ“%þê!›öì¢îû xy›öìœ ö‰þ!D‹ …¤yéôé~îû ö˜“,þöìc ¦þyîûöì“þ ²Ìí›
ö›yDœîûy xye«›’ „þöìîû!Šéöìœ˜Ð

20. (a) ö@Õyîyœ !šþ˜Äyª ö¢rÝþÆyœ îÄyBþyîû !îûöìþ™yÝÅþ „þyvÅþ¢ 2023
x˜%ëyëû# A+ îûÄyBþ „þöìîû òöîÞÝþ ö¢rÝþÆyœ îÄyBþ xÄyçëûyvÅþó
¢Á¿yöì̃  ¦)þ!¡ì“þ £öìœ˜ !îû‹y¦Åþ îÄyBþ xšþ £z!uþëûyîû †¦þ˜Åîû
Ÿ!_«„þyhsþ ”y¢Ð

21. (c) x÷ìm“þîyöì”îû ²Ì‰þyîû„þ £öìœ˜ ×#÷ì‰þ“þ˜ÄÐ
22. (c) îûyhßþyîû £œ%” îy!“þöì“þ ö¢y!vþëûy› †Äy¢ îÄî£*“þ £ëûÐ
23. (a) £z“þîû þ™îûy†öìëyöì†îû ›y•Äöì› öîyGþy ëyöìî œÁºy †yŠé!Ýþîû !þ™“þy

›y“þy vþz¦þëû£z œÁºy xíîy ~„þ‹˜ œÁºy ç x˜Ä‹˜ öî¤öìÝþÐ
24. (d) N.R.E.G.P. 2009 ¢yöìœ M.G.N.R.E.G.P ˜y› •yîû’

„þöìîûÐ
25. (c) vþzþ™„)þœ#ëû „þyëÅ„þy!îû“þy ç ”,‘þü“þy þ™!îû›yöìþ™îû vþzöìjöìŸÄ þ™%”%öì‰þ!îû–

“þy!›œ˜yvþY ~î‚ xõÉþ²Ìöì”öìŸ x˜%!Ûþ“þ £çëûy vþzþ™„)þœ#ëû ¢%îûÇþy
x˜%Ÿ#œöì̃ îû ˜y› !Šéœ £zÞÝþöì„þyÞÝþ ¢y†îû „þî‰þ éôé 02éôé23Ð

26. (d) SPG „þíy!Ýþîû þ™%öìîûy xíÅ £œéôô Squared Poverty GapÐ
27. (b) !îû¦þy¢Å öîûöìþ™y öîûÝþ öîöìvþü ö†öìœ îy‹yöìîû xöìíÅîû ö‹y†y˜

„þöì› ëyëûÐ
28. (b) ö„þy„þyéôéö„þyœy £z!uþëûy ~˜~¢!vþ!¢éôé~îû ¢öìD ë%_« £öìëû !ßþñœ

£z!uþëûy !›Ÿöì̃ îû x•#öì̃  ¢)‰þ˜y „þîûœ ¢%þ™yîû þ™yçëûyîû !îûöìÝþœ
ö²Ìy@ùÌyöì›îûÐ

29. (d) þ™!Øþ›îöìDîû =îû&cþ™)’Å öîûœ ‹‚Ÿ˜ xyoy þ™%îû&!œëûy ö‹œyëû
xî!ßþi“þÐ

30. (b) ¢Á±!“þ !˜vþz!‹œÄyöìuþîû ˜“%þ˜ ²Ì•y˜›sþf# !£¢yöìî !˜îÅy!‰þ“þ
£öìœ˜ !e«öìÞÝþyšþyîû œ%:˜Ð

31. (c) þ™!Øþ›îöìD î,!ÜTþ™y“þ £ëû ö›ï¢%›# îyëû%îû ²Ì¦þyöìî ëy xyöì¢
²Ì“þÄy†›˜„þyîû# ö›ï¢%›# îyëû%îû myîûyÐ

32. (b) öþ™öìÝþÆyéôéîû¢yëû̃  !ŸöìÒîû ‹˜Ä !î…Äy“þ £œ!”ëûy !ŸÒyMþéœÐ
33. (d) òçëûy˜ œy£zšþ £z‹ ˜Ýþ ~˜yšþó Ÿ#¡ìÅ„þ xyd‹#î˜# îû‰þ˜y „þöìîû̃

ö„þ ˜Ýþîîû !¢‚Ð
34. (c) ¦þyîûöì“þ ²Ìí› †y˜ öîû„þvÅþ „þöìîû̃  ŸŸ#›%…#Ð
35. (a) £z„%þöìëûvþöìîûîû „þ!˜Ûþ“þ› îûyÜTÉþ™!“þ !˜îÅy!‰þ“þ £öìœ˜ vþÄy!˜öìëûœ

ö˜yöìîyëûyÐ
36. (c) ò˜#œöìœy!£“þó Šép˜y› £œ ¢%̃ #œ †öìDyþ™y•ÄyöìëûîûÐ
37. (d) ¦þyîûöì“þ !þ™˜ ö„þyvþ ö‹yöì̃ îû ¢‚…Äy éôé 9Ð
38. (d) ›•Ä²Ìöì”öìŸîû vþzI!ëû̃ # Ÿ£öìîû ›£y„þyœ ›!¨îû xî!ßþi“þÐ
39. (d) „,þ¡Œy˜”#îû †!“þþ™öìí †öìvþü vþzöìàþ!Šéœ ×#÷ìŸœ› ‹œ!î”%Äê ²Ì„þÒÐ
40. (c) xyrÝþy„Åþ!Ýþ„þy ›£yöì”öìŸ ö„þyöì̃ y ö”Ÿ ö˜£zÐ
41. (d) A : B = 100 : 90 ~î‚ A : C = 100 : 87

B B A 90 100 20
C A C 100 87 29

           
   

PSC Clerkship Exam. Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 11– £z¢%Ä éôé 7  ˜öì¦þÁºîû– 20232

ë“þ ¢›öìëû B 30 !›Ýþyîû ö”ïvþüyëû– “þ“þ ¢›öìëû C ö”ïvþüyëû
= 29 !›Ýþyîû
ë“þ ¢›öìëû B 180 !›Ýþyîû ö”ïvþüyëû– “þ“þ ¢›öìëû C ö”ïvþüyëû

29 180
30

   
 

= 174 !›Ýþyîû

¢%“þîûy‚ B, C ö„þ (180 – 174) = 6 !›Ýþyöìîû £yîûyëûÐ
42. (a) •!îû– ö‰þyöì̂ îû ¦)þ!›îû îÄy¢y•Å = r ~î‚ vþzF‰þ“þy = h

“þy£öìœ ö‰þyöì̂ îû îe«“þöìœîû öÇþešþœ = 2rh

˜“%þ˜ ¦)þ!›îû îÄy¢y•Å 
90 9rr

100 100
    
 

˜“%þ˜ vþzF‰þ“þy 
115 23hh
100 20

    
 

˜“%þ˜ ö‰þyöì̂ îû îe«“þöìœîû öÇþešþœ

 9r 23h 2072 2 rh
10 20 200

      
 

îe«“þöìœîû öÇþešþöìœ î,!kþ

   207 71 2 rh 2 rh
200 200

      
 

îe«“þöìœîû öÇþešþöìœ Ÿ“þ„þîûy î,!kþ

7 1% 2 rh 100 %
200 2 rh

       

7 % 3.5%
2

 

43. (b) •!îû– “þyöìîûîû îÄy¢y•Å = r ö¢!› “þy£öìœ
2

21 8 r 1800
2

      
 

2
2 1 1 1r r

900 30 30
      
 

¢%“þîûy‚ “þyöìîûîû îÄy¢y•Å = 
1
30  ö¢!›

44. (d) î†ÅöìÇþöìeîû îyý =
43 2

2
 = 43 !›Ýþyîû

²ÌÙÀy˜%¢yöìîû– î†ÅöìÇþöìeîû þ™!îû¢#›y = xyëû“þöìÇþöìeîû þ™!îû¢#›y
= 172 !›Ýþyîû
•!îû– xyëû“þöìÇþöìeîû ²Ìßþi = 5 !›Ýþyîû
 ~îû ÷”‡ÅÄ = (s + 8)
 2(s + 8 + s) = 172

1722s 8 86
2

   

 2s = 86 – 8 = 78
78s 39
2

   !›Ýþyîû

 ÷”‡ÅÄ = 39 + 8 = 47 !›Ýþyîû
 xyëû“þöìÇþöìeîû öÇþešþœ
= S÷”‡ÅÄ × ²ÌßþiV = 5 × 39 = 1833 î†Å!›Ýþyîû

45. (a) ²Ì”_ ¢y›yhsþ!îû„þ ABCD ëyîû
AB = 30 !›Ýþyîû– BC = 14 !›Ýþyîû ~î‚ AC = 40 !›Ýþyîû

 s = 
1
2 (30 + 14 + 40) = 42, (s – a) = 12, (s –

b) = 28, (s – c) = 2

   s s a s b s c 42 12 28 2       

7 7 6 6 4 4     
= (7 × 6 × 4) = 168 î†Å!›Ýþyîû

A B

CD

 ‰þ“%þ¦Å%þ‹ ABCD ~îû öÇþešþœ
= (2 × 168) = 336 î†Å!›Ýþyîû

46. (d) î“Åþ›y˜ ›)œÄ = 
²Ìöì”ëû ›)œÄ × 100

100 + ×S¢%öì”îû £yîû  ¢›ëûV

A ~îû }öì’îû î“Åþ›y˜ ›)œÄ

1573 100 1573 100
3 121100 14
2

 
                  

` `

= ` 1300
B ~îû }öì’îû î“Åþ›y˜ ›)œÄ

1444.50 100 144450
1 107100 14
2

 
                 

` `

= ` 1350
¢%“þîûy‚ B, A ö„þ ` 50 Ýþy„þy ö”öìîÐ

47. (d) ²Ìí› ›)œ•˜ = `
100 1200

8 6
 

  
= ` 2500

˜“%þ˜ ›)œ•˜ = ` 7500

!˜öì’Åëû ¢%” = `
107500 2

1000
   
 

= ` 1500

48. (a) •!îû– ”%!Ýþ ßþiyöì̃ îû ”)îûc = x !„þ!› ~î‚ ”%!Ýþ ßþ%ñÝþyîû z !î¨%öì“þ
!›!œ“þ £ëûÐ
²Ìí› ßþ%ñÝþyîû 2 ‡^ùÝþyëû ëyëû = 100 !„þ!›

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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 x !„þ!› öëöì“þ ¢›ëû œyöì† 
x

50
  ‡^ùÝþy

!m“þ#ëû ßþ%ñÝþyîû (40 – x) !„þ!› öëöì“þ ¢›ëû ö˜ëû 
40 z

30




x 40 x
50 30


 

 3x = 200 – 5x  8x = 200  x = 25 !„þ!›
 A ~îû 25 !„þ!› öëöì“þ ¢›ëû œyöì†

25 1
50 2

   ‡^ùÝþy = 30 !›!˜Ýþ

”%öìÝþy ßþ%ñÝþyöìîûîû !›!œ“þ £çëûyîû ¢›ëû = 12:30 p.m
49. (b) •!îû– †y!vþüîû •#îû †!“þ = x !„þ!›/‡^ùÝþy

“þy£öìœ– x ×
9
2  = (x + 5) × 4  9x = 8x + 40 

x = 40
¢%“þîûy‚ !˜öì’Åëû •#îû †!“þ = 40 !„þ!›/‡^ùÝþy

50. (c) ö›yÝþ ”)îûc = (35 + 69) = 104 !„þ!›
~£z ”)îûc x!“þe«› „þîûöì“þ ¢›ëû œy†öìî = (45 + 75) !›!˜Ýþ
= 120 !›!˜Ýþ = 2 ‡^ùÝþy
†vþü †!“þöìî† = 104/2 = 52 !„þ!›/‡^ùÝþy

51. (c) (A + B + C) 2 ‡^ùÝþyëû ¦þ!“Åþ „þöìîû 
1 12
6 3

    
 

îy!„þ x‚Ÿ 
1 21
3 3

    
 

2
3 x‚Ÿ (A + B) ¦þöìîû = 7 ‡^ùÝþyëû

þ™%öìîûy ö‰þïîyF‰þyöì„þ (A + B) ¦þöìîû 
3 217
2 2

    
 

 ‡^ùÝþyëû

(A + B) 1 ‡^ùÝþyëû „þöìîû 
2
21



(A + B + C) 1 ‡^ùÝþyëû „þöìîû 
1
6



C 1 ‡^ùÝþyëû „þöìîû 
1 2 3 1
6 21 42 14

     
 

¢%“þîûy‚– C ~„þy …y!œ ö‰þïîyF‰þy!Ýþöì„þ 14 ‡^ùÝþyëû ¦þîûöìîÐ
52. (b) ë…˜ A ~î‚ B ÷”!˜„þ 1 ‡^ùÝþy „þy‹ „þöìîû

 ”%‹öì̃  1 !”öì̃  „þöìîû 
1 1 7 6 13
48 56 336 336


   

ë…˜ ”%‹öì̃  ÷”!˜„þ 7 ‡^ùÝþy „þy‹ „þöìîû– “þ…˜ !˜öì’Åëû ¢›ëû

336 3.7
13 7

 


 !”˜  4 !”˜

53. (a) •!îû– A „þy‹!Ýþ x !”öì̃  öŸ¡ì „þöìîûÐ

“þy£öìœ– B „þy‹!Ýþ 
x
2  !”öì̃  ~î‚ C „þy‹!Ýþ 

x
4  !”öì̃  öŸ¡ì

„þîûöì“þ þ™yöìîûÐ
x 7 x 28
4

   

(A + B + C) ~îû 1 !”öì̃ îû „þy‹

1 2 4 7 7 1
x x x x 28 4

       
 

¢%“þîûy‚ !“þ˜‹˜ ~„þ¢yöìí „þy‹!Ýþ 4 !”öì̃  „þîûöìîÐ

54. (d) 5 ‹˜ þ™%îû&¡ì   7 ‹˜ ›!£œy  1 ‹˜ þ™%îû&¡ì 
7
5

  ›!£œy

(7 ‹˜ þ™%îû&¡ì + 13 ‹˜ ›!£œyV

7 1147 13
5 5

         
 ›!£œy

•!îû– !˜öì’Åëû Ýþy„þy = x Ýþy„þy
öî!Ÿ ›!£œy– öî!Ÿ Ýþy„þy S¢›y˜%þ™y“þV

114 1147 : :5250 : x 7x 5250
5 5

  

(114 1050)x 17100
7


  

!˜öì’Åëû Ýþy„þy = 17100 Ýþy„þy
55. (b) ~…˜ 150 ‹˜ ö¢˜yîû ‹˜Ä (50 – 20) !”˜ xíÅyê 30

!”öì̃ îû …yîyîû !ŠéœÐ
îy!„þ ö¢˜y = (150 – 50) = 100
•!îû– îy!„þ …yîyîû x !”˜ ‰þœöìî
„þ› ö¢˜y– öî!Ÿ !”˜ SîÄhßþy˜%þ™y“þV
100 : 150 :: 30 : x ? 100 × x = 150 × 30

(150 30)x 45
100


   !”˜

56. (d) îûy‹ ~î‚ þ™,í#́ myîûy !î!˜öìëûy† „þîûy xíÅ = x Ýþy„þy ~î‚
x + 200 Ýþy„þy x˜%þ™yöì“þîû öëy†šþœ = x + x + 2000 =
2x + 2000
 îûyöì‹îû œ¦þÄy‚Ÿ = 3600 Ýþy„þy
²ÌÙÀy˜%¢yöìîû–

x 8400 3600
2x 2000

  


7x 3
2x 2000

 


 7x = 6x + 6000
 x = 6000 Ýþy„þy
þ™,í#́îû myîûy !î!˜öìëûy†
= x + 2000 = 6000 + 2000 = 8000 Ýþy„þy

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 11– £z¢%Ä éôé 7  ˜öì¦þÁºîû– 20234

57. (a) •!îû– ¢‚…Äy ”%!Ýþ £œ 3x ~î‚ 5x
“þy£öìœ 3x × 5x = 2160

 x2 = 144  x = 144  = 12
¢‚…Äy ”%!Ýþ £œ 36 ~î‚ 60
~îû ›öì•Ä öŠéyÝþ ¢‚…Äy £œ 36

58. (d) •!îû– ›y!¢„þ xyëû = 11x Ýþy„þy ~î‚ ›y!¢„þ îÄëû = 10x Ýþy„þy
“þy£öìœ ›y!¢„þ ¢Mþéëû = (11x – 10x) = x Ýþy„þy
 îy!¡ìÅ„þ ¢Mþéëû = 12x Ýþy„þy
 12x = 9000  x = 750
¢%“þîûy‚ ›y!¢„þ xyëû = (11 × 750) = 8250 Ýþy„þy

59. (c) •!îû– •yëÅ›)œÄ = x Ýþy„þyÐ “þy£öìœ–
I. öíöì„þ e«ëû›)œÄ (x ~îû 75% ~îû 85%) Ýþy„þy

75 85 51x 225xx
100 100 80 400

      
 

 Ýþy„þy

II. öíöì„þ e«ëû›)œÄ (x ~îû 70% ~îû 90%) Ýþy„þy

70 90 63x 252xx
100 100 100 400

      
 

III. öíöì„þ e«ëû›)œÄ (x ~îû 65% ~îû 95%) Ýþy„þy
65 95 247xx

100 100 400
     
 

Ýþy„þy

ßþ™ÜT“þ£z III ~îû e«ëû›)œÄ ¢îöì‰þöìëû „þ›Ð
60. (a) •!îû– •yëÅ›)œÄ = x Ýþy„þyÐ “þy£öìœ–

!îe«ëû›)œÄ 
80 4xx

100 5
    
 

 Ýþy„þy

S!îe«ëû›)œÄ 
4x
5  Ýþy„þy– œy¦þ = 25%V

 e«ëû›)œÄ 
100 4x 16x
125 5 25
    
 

 Ýþy„þy

16x 25432 x 432 675
25 16

       
 

 •yëÅ›)œÄ = 675 Ýþy„þy
61. (b) •!îû– ²Ìyîû!½þ„þ ›‹%îû# = 100 Ýþy„þy

40% „þ› „þîûyîû þ™öìîû ›‹%îû# = (100 – 40) = 60 Ýþy„þy
50% î,!kþ „þîûöìœ ›‹%îû# = 60 Ýþy„þyîû 150%

15060
100

   
 

= 90 Ýþy„þy

¢%“þîûy‚ “þyîû 10% Çþ!“þ £öìîÐ
62. (b) •!îû– ¢‚…Äy = x

“þy£öìœ– 
1
5 × x = 81  x = (81 × 5) = 405

x ~îû 68% 
68 1377405 275.4

100 5
     
 

63. (d) 2, 3, 4 ~îû œ¢y= = 12

   
1 1 1

62 12 122 2 2 64
 

   
 

   
1 1 1

43 3 12 124 4 4 256  

   
1 1 1

34 4 12 126 6 6 216  

ßþ™ÜT“þ£z      
1 1 1

12 12 1264 216 256 

xíÅyê 342 6 4 

64. (a)  16 6 7 9 7 2 3 7     

 2
23 7 2 3 7    

 2
3 7 

 16 6 7 3 7     ~î‚

 16 6 7 3 7   

16 6 7 16 6 7   

   3 7 3 7 2 7    

 ²Ì”_ îûy!Ÿ 
7 1

22 7
 

65. (d) •!îû– ”%£z îÄ!_«îû î“Åþ›y˜ îëû¢ 5x ~î‚ 7x
18 îŠéîû xyöì†–

5x 18 8
7x 18 13


 


 13(5x – 18) = 8(7x – 18)
 65x – 234 = 56x – 144
 9x = 90
 x = 10
î“Åþ›y˜ îëû¢ ëíye«öì› 50 ~î‚ 70

66. (d) •!îû– !˜öì’Åëû ¦þ@Ày‚Ÿ 
a
b

“þy£öìœ 
a 1 4
b 1 5





 5a + 5 = 4b + 4  5a – 4b = –1 ...(i)

~î‚ 
a 5 1
b 5 2





 2a – 10 = b – 5

 2a – b = 5           ...(ii)
(i) ~î‚ (ii) ¢›y•y˜ „þîûöìœ ­ a = 7 ~î‚ b = 9

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



5Achievers

 !˜öì’Åëû ¦þ@Ày‚Ÿ
7
9



67. (b) 9 ‹˜ Šéyöìeîû ö›yÝþ îëû¢ = (4 × 19 + 5 × 10)
= (76 + 50) = 126 îŠéîû

9 ‹˜ Šéye + !ŸÇþöì„þîû ö›yÝþ îëû¢ = (16 × 10) = 160
îŠéîû
!ŸÇþöì„þîû îëû¢ = (160 – 125) = 34 îŠéîû

68. (c) n4 = 1024  4n = (1024)2 S”%þ™yöìŸ î†Å „þöìîû þ™y£zV

 4n = (45)2 = 410  n = 10
69. (b) •!îû– A ~îû „þyöìŠé x Ýþy„þy ~î‚ B ~îû „þyöìŠé y Ýþy„þy îûöìëûöìŠéÐ

“þy£öìœ– y + 50 = 2(x – 50)
 2x – y = 150 ...(i)
x + 20 = 3(y – 20)
 x – 3y = –80 ...(ii)
¢›y•y˜ „þöìîû þ™y£z– x = 106

70. (c) ²Ì!“þ!”˜ ”%• …îû‰þ = 1600 !›!œ!œÝþyîû = 1.6 !œÝþyîû
(4 × 7) !”öì̃  ”%• …îû‰þ = (28 × 1.6) !œÝþyîû = 44.8
!œÝþyîû

71. (c) Effortless
72. (d) Cheerful
73. (b) at
74. (c) A great encouragement Svþzê¢y£V
75. (b) out

76. (b) Call on
77. (a) except
78. (c) Begin
79. (c) was
80. (c) Kites are being flown by the boys in the sky
81. (c) transformed
82. (c) defend
83. (d) Virat said that Ravi had arrived on Monday
84. (a) The girl said that she was very busy then.
85. (d) Que
86. (b) He asked me what I was doing
87. (d) by
88. (a) Racial killing
89. (a) would
90. (d) cry
91. (b) Is not honesty the best policy?
92. (c) in
93. (b) hard
94. (b) Holiness
95. (b) She saved money for vacation.
96. (c) had
97. (d) Fascination with dead bodies
98. (a) have know
99. (b) met
100.(a) slow

——————
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